
















八年级数学参考答案

一、选择题 1——5 C D C A B 6——10 D C B D B

二、填空 11、 （答案不唯一）

12、1 13、SAS、△ABC 全等△DEC 14、±12 15、1 或 7

16、（1）解;原式 ........3 分

= ..........5 分

（2）解;原式=2018
2
—(2018+1)(2018—1)......2 分

=2018
2
—2018

2
+1 .....4 分

=1 .......5 分

17、解;原式 =x
3y2—2x

2
y+3x

3y2 .......5分

=4x3y2—5x
2
y .......8 分

18、解;原式 =4—a
2
+a

2
—5ab+3ab ......4 分

=4—2ab .......6 分

当 ab=—½时，

4—2ab =4+1

=5 .......9 分

19、解：（1）∵x2
+y2

＝8，xy＝2，

∴（x+y）2

＝x2
+y2

+2xy

＝8+2×2

＝12；............................4 分

（2）∵x2
+y2

＝8，xy＝2，



∴（x﹣y）2
＝x2

+y2
﹣2xy＝8﹣2×2＝4，

∴x﹣y＝±2．.........................6 分

（3） ................9 分

20.（1）-2 .....2 分

（2）解;原式=（X+1）(X-1)-3x(x-2)......4 分

=-2x
2
+6x-1

=-2(x
2
—3x）-1.....7 分

因为 X
2
—3X+1= 0

所以 X
2
—3X=-1

所以-2(x
2
—3x）-1 = -2x(-1)-1

=1.......9 分

21、



所以 BC=BE+CE=4+2=6

答；BC长为 6

22、答案：（1）3， 3；（2）1，大， －2；（3）当 时，

的最小值为－6.

【详解】

（1）∵ ，

∴当 时，有最小值 3；

故答案为 3，3..............................................................................3分

（2） ∵ ，

∴当 时最大值-2；

故答案为 1，大，-2. .................................................................6分

（3）∵ ，

∴

∴ ，

∴当 时， 的最小值为－6....................................10分

23、答案：

（1）∵∠ACB=90°

∴∠ACD+∠BCE=90°

又∵AD⊥MN，BE⊥MN

∴∠ADC=∠CEB=90°



∴∠BCE+∠CBE=90°

∴∠ACD=∠CBE

在△ADC和△CEB中，

∴△ADC≌△CEB

∴AD=CE，DC=BE

∴DE=DC+CE=BE+AD；............................4 分

（2）在△ADC和△CEB中，

∴△ADC≌△CEB(AAS)

∴AD=CE，DC=EB

∴DE=CE﹣DC=AD﹣EB；...........................8 分

（3）DE=BE﹣AD．理由如下：

在△ADC和△CEB中，

∴△ADC≌△CEB（AAS）

∴AD=CE，DC=BE

∴DE=DC﹣CE=BE﹣AD．...........................11 分


